R7.2.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
Xl 49,940 109, 715] 53,315] 56,400 -12] 87 -116 47 163 29  394] 365 0 108 108
HI—TH 713 1,462 710 752 -6 -7 -5 1 6 -1 0 1 -1 3 4
FLl T H 585( 1,327 662 665 -3 4 -3 0 3 7 13 6 0 2 2
LI =TH 473 1,038 493 545 -3 -6 -5 0 5 -1 1 2 0 0 0
SulAEH 1L, 771 3,827 1,865] 1,962 -12 -9 -13 1 14 5 14 9 -1 5 6
Sk —TH 487 931 436 495 -1 —4 -3 0 3 -3 5 8 2 3 1
. = 748 1,684 804 880 0 -9 —6 0 6 1 6 5 —4 1 5
SR —TH 560 1,287 612 675 -3 -1 -2 0 2 2 5 3 -1 4 5
S AT H 402 883 444 439 -2 -3 0 1 1 -1 0 1 -2 0 2
ot T H 626 1,298 625 673 -1 -5 -1 2 3 0 3 3 —4 0 4
BN T B 234 482 243 239 0 -1 0 0 0 0 3 3 -1 0 1
ARt TH 672l 1,652 817 835 20 51 -2 0 2 36 42 6 17 17 0
oA\ T H 399 842 387 455 2 3 -2 0 2 1 1 0 4 4 0
IV B 631| 1,482 724 758 2 5 1 1 0 7 10 3 -3 1 4
B naatl 4,759 10,541 5,092 5,449 17 36/ -15 4 19 43 75 32 8 30 22
e n—1H 368 797 390 407 0 -3 -1 1 2 -1 4 5 -1 0 1
w7 AL 1,034 2,085 1,042 1,043 —4 -3 1 1 0 -5 0 5 1 1 0
HHk o —TH 682 1,367 664 703 3 6 -1 1 2 3 7 4 4 4 0
W R AEEL 2,084 4,249] 2,096] 2,153 -1 0 -1 3 4 -3 11 14 4 5 1
Mt A — T H 558( 1,232 600 632 -3 -7 -3 0 3 —4 3 7 0 0 0
ek R _TH 359 903 452 451 2 2 -1 0 1 0 1 1 3 3 0
Mk R =TH 260 555 286 269 1 0 0 0 0 0 1 1 0 0 0
ik L G| 563[ 1,294 657 637 -1 -2 0 0 0 -2 0 2 0 0 0
msEr et 1,740 3,984 1,995 1,989 -1 -7 —4 0 4 -6 5 11 3 3 0
TEIT) 390 833 399 434 0 -1 —4 0 4 3 7 4 0 0 0
HOEEN— T H 203 420 211 209 0 1 -1 0 1 1 2 1 1 1 0
HOEE T H 450 963 472 491 -2 -3 -3 1 4 -1 2 3 1 1 0
HoEEI =T H 750 1,778 869 909 1 -2 0 4 4 1 8 7 -3 0 3
HOEEAN T H 858  2,092| 1,049 1,043 -3 -6 -1 2 3 -3 5 8 -2 0 2
HEROH T H 4321l 1,000 506 494 -1 -3 -2 0 2 -1 0 1 0 0 0
HOEEIS T H 397 839 401 438 2 3 -3 0 3 2 2 0 4 5 1
HoEEOETH 686| 1,442 712 730 -3 -7 -5 1 6 1 2 1 -3 0 3
HOEESOSE 3,776 8,534 4,220] 4,314 -6  -17]|  -15 8 23 0 21 21 -2 7 9
PEEE | 1,521 2,701 1,288 1,413 0 0 -2 0 2 2 9 7 0 0 0
FHIAR 311 642 327 315 0 —4 0 0 0 0 0 0 —4 0 4
EE g —T 566 1,122 526 596 2 0 0 0 0 0 6 6 0 0 0
EE g — T 253 496 243 253 0 0 0 1 1 2 4 2 -2 0 2
R =T H 5471 1,160 582 578 -1 —7 -3 0 3 —4 2 6 0 0 0
TEE Py T 663 1,309 624 685 1 3 1 1 0 2 5 3 0 0 0
EEP g R T H 243 547 269 278 -2 -2 1 1 0 -3 1 4 0 0 0
EER A2 2 272l 4,634 2,244| 2,390 0 -6 -1 3 4 -3 18 21 -2 0 2
EEIARRT— T H 730 1,420 680 740 3 6 1 2 1 0 20 20 5 5 0
EEIARRT T H 677 1,279 584 695 -2 -5 -2 0 2 —4 2 6 1 1 0
EEOARRT AR 1,407 2,699 1,264 1,435 1 1 -1 2 3 —4 22 26 6 6 0
RPN 276 762 414 348 6 6 0 0 0 7 2 -1 0 1
WHR—TH 754 1,652 807 845 1 4 1 1 0 -1 3 4 4 0
WOOR T H| 11,7321 3,885 1,872] 2,013 3 5 -2 3 5 9 15 6 -2 4 6
WHR=TH 898 2,230] 1,090 1,140 2 6 -2 0 2 4 2 4 4 0
HHRIT H 509 1,192 555 637 0 -2 —4 0 4 1 1 1 1 0
HPREEE 3,893 8,959| 4,324 4,635 6 13 -7 4 11 13 25 12 7 13 6
HiR—TH 732 1,574 766 808 5 6 -2 0 2 5 10 5 3 3 0
IHR_"TH 983 2,273| 1,146] 1,127 0 -2 -2 2 4 1 2 -1 0 1
PR =TH 503 1,047 537 510 -8 -9 0 0 0 -9 14 0 0 0
iR &eEH 2,218 4,894 2,449 2,445 -3 -5 —4 2 6 -3 18 21 2 3 1
T IROBTHT 325 790 373 417 -1 0 0 1 1 2 2 0 -2 0 2
el 1,642( 5,073 2,258 2,815 2 -5 —4 2 6 -3 1 4 2 2 0
M E T H 800 1,812 880 932 -3 -5 -2 3 5 -3 1 4 0 0




R7.2.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 788[l 1,802 898 904 1 -1 -3 1 4 2 6 4 0 0 0
MoE =1 H 642l 1,473 719 754 2 0 0 1 1 6 6 0 -6 0 6
A EN T H 939 2,180| 1,041 1,139 3 1 1 1 0 1 5 4 -1 1 2
RCENNE 672 1,487 729 758 —4 -6 0 1 1 -8 7 15 2 2 0
MAEST H 429 971 446 525 -2 -6 0 0 0 -2 0 2 —4 0 4
Ml Eae 4,2700  9,725| 4,713] 5,012 -3 -17 —4 7 11 —4 25 29 -9 3 12
VEPIe S 592|l 1,149 561 588 2 -2 -1 0 1 4 6 2 -5 0 5
e —TH 328 693 331 362 0 -1 -1 0 1 0 2 2 0 0 0
e — T H 5931 1,297 618 679 -3 —4 -3 0 3 -1 3 4 0 1 1
A gl 9211l 1,990 949| 1,041 -3 -5 —4 0 4 -1 5 6 0 1 1
Eh— 1 H 340 754 383 371 -2 -1 -1 0 1 3 5 2 -3 0 3
= =T H 697 1,420 667 753 -1 —4 0 4 4 4 0 0 0 0
=T H 4371l 1,085 545 540 2 2 -1 0 1 3 4 1 0 1 1
EAaEt 1,474/ 3,259 1,595 1,664 -1 -6 0 6 10 13 3 -3 1 4
e —TH 392 919 429 490 0 -3 -1 0 1 -1 0 1 -1 1 2
HWHE T H 45111 1,064 526 538 -5 -11 -1 0 1l -10 0 10 0 0 0
HHE T H 854 2,070| 1,044 1,026 2 2 1 3 2 3 6 3 -2 1 3
W& T B 436 986 475 511 -1 -3 -2 0 2 -1 0 1 0 0 0
B E ] H 850[ 1,800 892 908 1 -3 -2 0 2 -1 6 7 0 5 5
HHIENT H 248 494 245 249 -1 -2 0 0 0 -2 0 2 0 0 0
HEOEr 3,231 7,333] 3,611 3,722 —4| =20 -5 3 g -12 12 24 -3 7 10
<HWE—TH 5971 1,304 634 670 -3 -5 -3 0 3 -3 1 4 1 1 0
<HEIL—TH 707l 1,449 716 733 -2 -5 1 1 0 —4 3 7 -2 0 2
SHBEIL=TH 516 1,107 543 564 7 12 0 1 1 12 14 2 0 0 0
<HEWLPTH 574( 1,161 560 601 —4 ~7 -2 0 2 -5 1 6 0 0 0
<O T H 284 598 320 278 1 -2 0 0 0 -1 4 5 -1 0 1
<WEEEH 2,678 5,619 2,773 2,846 -1 -7 —4 2 6 -1 23 24 -2 1 3
WIE AR —TH 812 1,696 841 855 1 1 -3 0 3 2 9 7 2 2 0
WIEAR T H 4771 1,119 573 546 0 -2 -3 0 3 3 5 2 -2 0 2
PIEAITSE 1,289 2,815| 1,414| 1,401 1 -1 -6 0 6 5 14 9 0 2 2
s 416 787 378 409 -3 =10 -1 0 1 -5 5 10 —4 0 4
ek a—TH| 1,178 1,851 858 993 —4 —6 3 3 0 -11 11 22 2 2 0
e T H 601 1,078 522 556 0 -2 0 0 0 -5 4 9 3 3 0
kR =T H 751 1,803 847 956 -2 -6 -1 0 1 -5 4 9 0 0 0
sk BRI H 430 856 413 443 -7 -9 -2 0 2 -6 2 8 -1 2 3
ok a A el 2,960 5,588 2,640 2,948  -13]  -23 0 3 3| 27 21 48 4 7 3
FRIREET 22 50 25 25 0 -1 -1 0 1 0 0 0 0 0 0
B 739 1,718 823 895 2 —4 —4 0 4 2 5 3 -2 3 5
VEEE 340 720 329 391 4 4 -1 0 1 2 5 3 3 4 1
e — T H 454 1,094 541 553 -3 0 -1 0 1 —4 1 5 5 5 0
e T H 414 909 451 458 0 -2 -1 0 1 -1 5 6 0 0 0
oo B R 868 2,003 992 1,011 -3 -2 -2 0 2 -5 6 11 5 5 0
P — T H 696| 1,424 713 711 3 3 -1 1 2 7 9 2 -3 0 3
P T H 540 1,264 596 668 -1 -2 -3 0 3 2 6 4 -1 0 1
TeEEm A Er 1,236 2,688 1,309] 1,379 1 —4 1 5 9 15 6 —4 0 4
P e 310 684 345 339 -2 0 1 1 -2 0 2 0 0 0
BEHIR 209 465 250 215 -1 -2 0 2 1 2 1 0 0




